GENERAL NOTES SECTIONS 7. 1"X2"X0.040" NON-STRUCTURAL MEMBERS SHALLBE 3. THESE DRAWINGS REPRESENT THE ACCEPTABILITY i
ATTACHED TO HOST WITH 1/4"@ X 1-3/4" OF THE 'SUNROOM' ROOM ADDITION ELEMENTS AS aﬁ_-_:::
EMBEDMENT & 24" 0.C. MASONRY SCREW FOR PROVIDED BY THE CONTRACTOR. //f EAU .,.u\
A. CONCRETE & FOUNDATION DESIGN: CONCRETE & EQUIVALENT SIZE WOOD SCREW WHEN 4. ALL DETAILS ON THESE DRAWINGS ARE ENGINEERED N &.O cesere,. W Uy
1. ALL CONCRETE AND FOUNDATIONS ATTACHED TO IN WOOD & #10X 1/2" EMBEDMENT SMS OR TEK BASED ON INFORMATION PROVIDED BY THE N DR o, & %
THE HOST STRUCTURE SHALL HAVE A PRE SCREWS IN ALUMINUM MEMBERS TYPICAL. CONTRACTOR AND MANUFACTURER. NEFRARCATN o %
INSPECTION. D. FASTENERS: 5. ANY DETAILS NOT SHOWN ARE TO BE ENGINEERED ~ < ..c.w © “Z "
2. ALL CONCRETE GRADE BEAMS AND FOOTINGS SHALL 7411 'L AG BOLTS SHALL CONFORM TO STAINLESS BY A LICENSED P.E. IN ACCORDANCE WITH STANDARD sy & ® =
BE 3000 PSI MINIMUM. STEEL TYPE 300 18-8, WITH STANDARD FLAT ENGINEERING PRACTICES. £ 5 A G izl
3. ALL CONCRETE FILLED SUPPORTED SLABS SHALL BE WASHER UNLESS MANUFACTURER GALVANIZES 6. WHEN ATTACHING TO FASCIA, THE HOST STRUCTURE b o n.%c Qi
2500 PSI MINIMUM, 3 1/2" NOMINAL THICKNESS. BOLTS SPECIFIES FOR USE WITH ACQ PRESSURE SHALL HAVE AT LEAST A 2"X4" FASCIA AND ROOF 3 < S & S~
4. FIBERMESH (3/4" PER CUBIC YARD MIN.) MEETING TREATED WOOD. TRUSS SYSTEM. CONTRACTOR SHALL VERIFY THIS = Oy >~
APPROPRIATE ACI AND ASTM REQUIREMENTS MAY BE 5 HEX BOLTS HAS TO BE ASTM A 325, PLATED WITH AND IF SMALLER, CONTRACTOR SHALL BRING
USED IN LIEU OF WELDED WIRE MESH STANDARD FLAT WASHERS AND NUTS. STRUCTURE UP TO A 2"X4" FASCIA AND ENSURE LESS
5. ALL SLABS ON GRADE SHALL BE A MINIMUM OF 4" 3. ALL CONCRETE SCREWS SHALL BE, SIMPSON, HILTI, THAN A 2'-0" OVERHANG. f &
THICK WITH FIBERMESH. RAWL, TAPCON, REDHEAD, DYNABOLT, PORTECTOR 7. FBC PLANS & ENGINEERING SERVICES INC. DOES NOT Y snmaliances. &
6. ALL REINFORCING SHALL CONFORM TO ASTM A615, APPROVED EQUAL. WARRANT, EITHER EXPRESSLY OR IMPLIED, THE AN x”,hﬁ_f_ mplic _\\w Vg
BE GRADE 60 (60 KSI MIN.) DEFORMED BARS, #3 BARS 4, ALL METAL TIES AND ASSOCIATED ACCESSORIES QUALITY OF THE CONSTRUCTION, AND IS NOT R Py axﬂ,&x T sl lsl 2
MAY BE GRADE 40 SHALL BE HOT DIPPED GALVANIZED, RESPONSIBLE FOR THE INTERPRETATION OF DESIGNS U8 EXAY” 2l 2|l&ls|2
7. ALL OVER POUR CONCRETE FILLED SUPPORTED SLABS 5. ALL LAG BOLTS SHALL HAVE A MINIMUM AND END USE BY THE CLIENT/CONTRACTOR. - Blalglalagla
SHALL BE 3000 PSI MIN., 2" MINIMUM. THICKNESS. EMBEDMENT OF 8X BOLT DIAMETER INTO 8. CONTRACTOR TO VERIFY FEMA FLOOD ZONE OF THE ol “[***1°"
8. SOIL BEARING PRESSURE SHALL BE A MINIMUM OF STRUCTURAL FRAMING ﬁOH.kN ?_HHZ.H. PROPOSED STRUCTURE LOCATION TO ENSURE () W
1500 PSF. 6. LAG BOLTS AND SCREWS INTO WOOD FRAMING SHALL STRUCTURE IS NOT WITHIN SPECIAL FLOOD HAZARD M = Zz M
9. THE CONCRETE SHALL CONFORM TO ASTM C94 FOR BE PROVIDED WITH PILOT HOLES HAVING A AREAS. SUNROOM CAT. 1 ﬁmnwmmz ROOM Sq SCREEN mZnFDma_mu Iz, W mnn o o -
THE FOLLOWING: DIAMETER NOT GREATER THAN 70 PERCENT OF THE ~ H. MISCELLANEOQUS: DESIGN DATA: (SITE SPECIFIC DESIGN INFORMATION) ol s|Eg|E m
9.1. OPC (PORTLAND CEMENT TYPE 1,- ASTM C 150). THREAD DIAMETER OF THE BOLT OR SCREW. ALL LAG 1. ALUMINUM ADDITIONS ARE NOT TO BE INSTALLED 1. ULTIMATE DESIGN WIND SPEED Vult, (3 SECOND GUST): 130 MPH e} W 2| g = E
9.2. AGGREGATES - #6 STONE , ASTM C 33 SIZE NO. 67 BOLTS AND SCREWS SHALL BE INSERTED IN PILOT ON A MANUFACTURED HOME, TRAILER HOME, OR NOMINAL DESIGN WIND SPEED Vasd. 101 MPH SHENE-N =N =il B
LESS THAN 3/4". HOLES BY TURNING AND UNDER NO CIRCUMSTANCES PRE-FAB HOME. IF THE EXISTING STRUCTURE 1S ONE 2. RISK CATEGORY: i 1 = E| <= =1 &=
9.3. AIR ENTRAINING +/- 1% - ASTM C 260. BY DRIVING WITH A HAMMER. OF THESE, A SEPARATE 4TH WALL SUPPORTSYSTEM | 2* (il b e o B -
9.4. WATER REDUCING AGENT - ASTM C 494. 7. ALL EXPANSION ANCHORS SHALL BE DESIGNED IN MUST BE ENGINEERED SO THAT NO ADDITIONAL : : ' (] by 2 =
9.5. CLEAN POTABLE WATER. ACCORDANCE WITH THE SPECIFIC MANUFACTURER'S LOADING IS PLACED ON THE MANUFACTURED HOME. | 4- WIND LOADS: = .m_ 388
9.6. OTHER ADMIXTURES SHALL NOT BE PERMITTED. REQUIREMENTS AND ALLOWABLE LOADS AND SHALL 2. IF ENCLOSURE CONTAINS A SWIMMING POOL OR SPA, SCREEN ROOF: 6 PSF — EEBR g
10. METAL WELDED WIRE SHALL CONFORM TO ASTM A ONLY BE APPLIED IN CONDITIONS ACCEPTABLE TO THE ENCLOSURE SHALL COMPLY WITH RESIDENTIAL SCREEN WALLS (WINDWARD): 23 PSF (=] &4 ® 3= km.vr
185, MANUFACTURER. FASTENERS SHALL BE A MINIMUM SWIMMING BARRIER REQUIREMENTS OF THE SCREEN WALLS (LEEWARD): 20 PSF Ll z .m. @ m. .m. e 3
11. PREPARE & PLACE CONCRETE ACCORDING TO OF SAE GRADE #5 OR BETTER ZINC PLATED. FLORIDA BUILDING CODE 8TH EDITION RESIDENTIAL SOLID ROOF: 24 PSF = IEmE8 W o
wﬂﬂwmmww wﬂumﬂ_ﬂm wﬂwﬁﬁ_ﬂcw.mmz%nw%hm o 8. ALL FASTENERS CONNECTING ALUMINUM s w mwwﬁwwﬁwwmﬂjﬂwﬂumqmz P 5. FACTOR APPLIED TO SCREEN WIND LOADS FOR 18/14: 0.88 m ASelbEE
; . 2, COMPONENTS OR PRESSURE TREATED LUMBER ARE . A MINED | IEL : : : G &
HOT WEATHER CONDITIONS RECOMMENDATIONS. STAINLESS STEEL TYPE 300 18-8, UNLESS BY CONTRACTOR. Wﬂnwﬂo.mmmﬁ%ﬂ.ﬁucrﬂmwmw%m va_ﬁ_&w Wﬂbwc w e 10 m m g ..ﬂ.. W
12.1F UTILIZING EXISTING CONCRETE FOR FOUNDATION, MANUFACTURER GALVANIZED BOLTS SPECIFIES FOR 4. IF PAVERS ARE UNDER ALUMINUM MEMBERS THEY FACTORS FOR OTHER SCREEN MESHES TO BE DETERMINED BY THE ENGINEER = ﬁlm =] g M m =B m
CONCRETE SHALL BE A MINIMUM OF 4" IN THICKNESS, USE WITH ACQ PRESSURE TREATED WOOD, OR SHALL HAVE EPOXY ADHESIVE TO CONCRETE OR IF 6. FACTOR APPLIED'TO SCREEN WIND LOADS FOR-ALLOWABLE & = 8 E=2ZE8
VISIBLY FREE OF ANY STRUCTURAL EXCESSIVE OTHERWISE NOTED ON PLANS. USING GROUT, ENSURE BONDING AGENT IS USED : = N
CRACKING, SPALLING OR OTHER DETERIORATION. 9. ALL FASTENERS SHALL COMPLY WITH ASTM A153. FIRST AND ADHERED WITH MINIMUM 3000 PSI STRESS DESIGN: 0.6 2 IS
B. MASONRY: 10. ALL CONNECTORS SHALL COMPLY WITH ASTM A653 GROUT. 7. LIVE LOAD: Z o
1. CONCRETE MASONRY UNITS (CMU) SHALL BE CLASS G-185. 5. SCREENING MATERIAL SHALL BE 18X14X0.013 OR 300 Ib. VERTICAL DOWNLOAD ON PRIMARY SCREEN ENCLOSURE MEMBERS. < ) =
STANDARD HOLLOW UNITS AND SHALL BE 2000 PSI 11. FOR SMS, THE MINIMUM CENTER-TO-CENTER EQUIVALENT DENSITY SCREEN MESH ONLY UNLESS 200 Ib. VERTICAL DOWNLOAD ON SCREEN ENCLOSURE PURLINS. m —t /e o mm
MINIMUM BASED ON TYPE M OR § MORTAR. SPACING SHALL BE 3/4" AND MINIMUM NOTED ON DRAWING S-2. 8. SCREEN ROOF TYPE: MANSARD - ° B s
2. ALL MORTAR SHALL BE OF TYPE M OR S. CENTER-TO-EDGE SHALL BE 1/2" UNLESS NOTED 6. ALL STRUCTURAL POST SHALL BE ANCHORED TO AN 9. ROOF TYPE: ELITE EPS COMPOSITE PANEL ROOF, FLORIDA PRODUCT APPROVAL, FL 7561-R7. O 5 &) &
3. ALL GROUT SHALL BE 2000 PSI MINIMUM AND HAVE OTHER WISE. EXISTING/PROPOSED CONCRETE FOUNDATION FOR | 10. PROPOSED FOUNDATION (SEE S-2 FOR SIZE AND LOCATION) SHALL BE ADEQUATE TO RESIST m % o m
MAXIMUM COARSE AGGREGATE SIZE OF 3/8" E. REFERENCE STANDARDS: (CURRENT EDITIONS OF) UPLIFT PURPOSES. THE UPLOADS FOR THE PROPOSED STRUCTURE
4. PROVIDE CLEAN-OUTS FOR REINFORCED CELLS ASTME 110 7. TORNADO CODE NOT APPLICABLE TO RISK CATEGORY 1
CONTAINING REINFORCEMENT WHEN GROUT POUR ASTM E 1300 AND RISK CATEGORY 2 STRUCTURES
EXCEEDS 5'-0" IN HEIGHT. ASCE 7 7.1. ASCE/SEI STANDARD 7-22, FIGS, 32.5-1, 32.5-2, AND
|n.pﬁw__‘z_._m_.__.ﬁ_"3=§r T ——— ALUMINUM DESIGN MANUAL-AA ASM35, AND SPEC. FOR Gee-1 THROUGH -4 ALUMINUM STRUCTURAL
THE MINIMUM REQUIREMENTS OF 6005-T5 FOR w%mﬁﬂz MR AR -2 c mx ey
ALLOY WITH A MINIMUM THICKNESS OF 0.040" FOR  ASTM €150 MEMBERS S o=
SUPPORTING MEMBERS. ASTM C33 e =
2. WHERE KICK PLATES ARE USED A MINIMUM 5 2 za B
e A1 o Souswepmone 51 NOTES Tl
. pe s s =
"PART 1-A - SPECIFICATIONS FOR ALUMINUM wmwu Mwww w mw w ” wn m m“mw m| 2 —U Eém Z Q ms : m =4
STRUCTURES - ALLOWABLE STRESS DESIGN” OR THE FLORIDA BUILDING CODE 8TH EDITION 2%5: 2" X 57X 0.050" Zzok oL
“PART 1-B - SPECIFICATIONS FOR ALUMINUM (CHAPTERS 16,20 & 23). s i fobuendl o8 DETAILS BRESS oS
STRUCTURES - BUILDING LOAD AND RESISTANCE F. ABBREVIATIONS: _ -
FACTOR DESIGN" OF THE ALUMINUM DESIGN MANUAL 7THE FOLLOWING LIST OF ABBREVIATIONS IS NOT
PREPARED BY THE ALUMINUM ASSOCIATION, INTENDED TO REPRESENT ALL THOSE USED ON THESE i OPEN BACK mmnﬂoww_, o m: nm. U mqﬁ}m H.m
INC.WASHINGTON D.C. THE FLORIDA BUILDING CODE DRAWINGS, BUT TO SUPPLEMENT THE MORE COMMON s w. el n_.nSm._
8TH EDITION (CHAPTER 16 STRUCTURAL DESIGN &  ABBREVIATIONS. . e 18-5 DETAILS
CHAPTER 20 ALUMINUM). 1. TYP--TYPICAL SNAP SECTIONS
4. WHERE ALUMINUM COMES INTO CONTACT WITH 2. SIM -- SIMILAR . . 22 -
STEEL, OR PRESSURE TREATED LUMBER PROVIDE 3. UON -- UNLESS OTHERWISE NOTED WH wmnm" wmw mamm o g
DIELECTRIC SEPARATION. 4. CONT -- CONTINUOUS g = m._ 0. 4 m -
5. ALUMINUM SELF MATING BEAM MEMBERS SHALLBE 5 y[F .. VERIFY IN FIELD LA DS ¢oRA K 0045 = 2
STITCHED WITH NO LESS THAN #10 SMS 6" FROM THE g SMB -- SELF MATING BEAM RESIME: AR S & =
ENDS AND 12" ON CENTER, IF USING #12 SPACING fe gl | z|ala
MAY BE 24" ON CENTER. T e SELF MATING (SMB) ) < $|153|5|5]|3
6. VINYL AND ACRYLIC PANELS SHALL BE REMOVABLE. 1. ALL SITE WORK SHALL BE PERFORMED BY A 2 XA SMB sty N.. X A... X obx._ X o..:“_c! as) =] = m m m
THEY SHALL BE _Umz._._m..__mu WITH A DECAL LICENSED CONTRACTOR IN ACCORDANCE WITH 2X5 mem.. .....-....-I:-:..-:.N.. X m.. X c,awc,. X c.:m.. w. MH m £ = .,
ESSENTIALLY STATING "REMOVABLE PANEL SHALL APPLICABLE BUILDING CODES, LOCAL ORDINANCES, o e
BE REMOVED WHEN WIND SPEEDS EXCEED 75 MPH" . ETC. 2K M mzm =28 M K057 7% Mwwa NOTES
DECAL SHALL BE PLACED SO IT IS VISIBLE WHEN 2. CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND S e o e
PANEL IS INSTALLED. VINYL AND ACRYLIC PANELS DETAILS, NOTIFYING ENGINEER OF ANY 3K 10 SMBiceerercmeemeremeeeas2" X 10" X 0.092" X 0.374"
MAY NOT BE USED IN FLOOD ZONE A. DISCREPANCIES BETWEEN DRAWINGS, FABRICATED i ' ' -
ITEMS, OR ACTUAL FIELD CONDITIONS. m q‘ m TUBE SECTIONS
2X2 2" X 2" X 0.090"




—=
1X2 @ %0 8
11'-6" J;I’ 11'-10"———F = 2
o 9
o O
£ 5 3
= =
- < = = =
ke — e o =
[ ] [ae] ¥} 0
4] o a
2X10SMB C.B. a =]
S— | = g5
— s =]
;_]
SI_O‘I 3]_0"7‘ \L @ §
ra 241'_01 ra E
4X4X.125 'FL '| =
\ =z
/ TTACH TO HOST 3
\ A :
/ 44| B, o s et :
>4 - ] o) ] P 4] =
¥ VRS OB < < >
o
<
/ \ | -
I — s
- tm
R \_ X8SMB g% §
=
& = —3
& o S
s 3
~ =
© |
A PX8SMB n\
§ . e AR
=
X B =8 s
= | > > > w 5 BE: =
6X6X.125 | |3 - & I & 5 235 =
5 s E 3 3 EIE ki
o g o o) 1S ! = - P —3
& o 325 ©
: o w3 =
' =82 7
] X8SMB =g =
i (= C“
x
& A
L ZIXBSMB
Sy . kO b
™~ N N =
|
A
4X4X.125 / . e
L} n L " 1 " Ll "
71_6 -0 rl’ 6'- ,t 6'-0 ;I’ 6'-0
@) 3F: ®
C =
@ N L
0S8 _ — | =~
g 8 o 2X10SMB C.B. H W§ ANH ZK2Z
=% IS &
= § = < S,
gy Ta & = o
g E B OE Ok
& o B B P
11'-6“ 12|-S"
1X2 ﬂ/
Legiqntegigrtegiynk
""‘\‘\\l“'_fl;.
\\"‘ © L qu ’l,,
1B NUMBER: PROIECT FBC PLANS & ENGINEERING | _PE. OF RECORD S Qe Y,
" .. 8 ...
24.1104.008. ﬁigg%ﬁ'ﬁt’g&lg;r — SERVICES, INC. DAVID W. SMITH L 53608] B\~ 4"0 4,;%:..'9 o ?_.
o . cm=
m § DRAW DATE: 11/04/2024 ADDRESS: 5344 9th Street THOMAS L. HANSON ~ FL 38654 )06‘6. :m o
I Z Zephryhills, FL 33542 2 > : oy~
= | REVISION 1; CONTRACTOR PHONE:  (813)838-0735 IAN | FOSTER FL 93654 47‘& < =
N = LAKESIDE ALUMINUM FAX: 1-(866)824-7894 Or S
REVISION 2: E-MAIL:  erb@fbcplans.com JOEL FALARDEAU FL 70667 & {DA .o' L Q
WEBSITE: www.fbcplans.com 7] "---"“Q’c?' o
REVISION 3: COAy 29054 ERIK STUART FL 77605 L ENnGWY \\\




FOR WOOD:

(4) 1/4° LAG SCREWS @ 1-1/2" SPACING @ EA. GUTTER
BRACKET & [1)1/4" LAG SCREWS @ 127 0.C MAX.
MINIMUM EMBEDMENT SHALL BE 2"

FOR CONCRETE:

(3) 3/8" CONCRETE SCREWS @ 2" SPACING @ EA. GUTTER
BRACKET & (1) 3/8" CONCRETE SCREWS @ 24" O.C MAX.
MINIMUM EMBEDMENT SHALL BE 2

OPTIONAL

(1) 57 OR 7K 6" WIDTH X 0.072" MIN, EXTRUDED
GUTTER BRACKET @ EA. BEAM & (1) GUTTER BRACKET
BETWEEN BEAMS, ALL BRACKETS W/ [4) #12 X 3/4" SMS
INTO GUTTER LIP

Z-BRACKET 0.250"

OPTIONAL 1" X 2" X 0.045" OPEN
BACK W/ [2)¥12X1-1/2" @

BEAM & AT GUTTER @ 24" oc_ |
[MAY USE 2X2 IN LIEU OF 1X2,
USE #12X 2-1/2" TEKS, SAME
PATTERN APFLIES)

5" OR 7" SUPER
X2 X1/BX PURLIN L GUTTER
ALUMINUM ANGLE I% oo
w/ [4) F12 X 3/4"—
OO

SMS INTO BEAM ON
EASIDEEALEG 0000 | N\ (4#12 x3/4"sMs
INTO GUTTER EA SIDE

2"K2"X0.062" RECEIVING CHANNEL W/
A ol A I T 18) OPTIONAL 1" X 2° X 0.045" OPEN BACK W/
G oL BAMDE TOTOVER (2)#12 X 1-1/2" @ BEAM & AT GUTTER @ 24°
( 0.C. (MAY USE ZX2 IN LIEU OF 1X2, USE #12 X
N.HMM_.._-m_nm.wbyamvﬁ._.._.mxz;fﬂﬂ_._mww

MAY BE CUT HORIZONTALLY]

o0
o0 e

2'%2"%1/8° ALUMINUM ANGLEW/ (4)_/
#12 X 3/4" SMS INTO PURLIN ON EA SIDE

2°X2" OR Z"X3"PURLIN

(SEE 5-2 FOR SIZE) 5" OR 7" SUPER

GUTTER

NOTES:
1. ZX4 SMB BEAM ONLY REQUIRES 4" WIDTH GUTTER BRACKET W/ (2) 3/8" LAGS

GUTTER BRACKET & BEAM ATTACHMENT DETAIL
SCALE: N.T.S.

ALUMINUM GUSSET PLATE (SEE
r—CHARTS FOR SMS SIZE, QTY, AND

2" X _PURLINS [SEE 5-2 FOR SIZE)
ATTACHED TO BEAM w/MIN (4)
#10X11/2° mzml/

PATTERN)

N

NOTES:

1. TOTAL NUMBER OF SCREWS PER JOINT EQUALS 4 GUSSET . I
TIMES “B". BEAM PLATE SMS B 53

2. PLATE WIDTH SHALL BE DETERMINED FROM wa | F [Fiz | 973 1o
ANGLE OF BEAM AND MINIMUM SPACE s 578736 | 16"
REQUIRED."S3" 1S MINIMUM PLATE WIDTH. 2x5 | /8" | #12

3. GUSSET PLATES CAN EXTERNAL OR INTERNAL. 2%6 | 1/8° | w12 | 9/18/36 | 16"

4. INTERNAL SCREWS FOR PURLIN CONNECTION X7 | 178" | #1z | 10/20/40| 18"
M,_a_w.mw_.wznrcumuwz TOTAL NUMBER OF ax6 | 3716 [wiz [1a/28/56 | 16"

5. 3/16" GUSSET PLATE CAN BE USED IN LIEU OF 2X8 | 3/16" | w14 | 12/24/48 | 18"
1/8" GUSSET PLATE 2X9 | 3/167 | #14 | 14/28B/56 | 20°

6. ALL SPLICES WILL HAVE THE SAME PATTERN. oxi0] 3716 | #14 [15/30/60] 20°

7. ALL SCREWS SHALL BE SPACED EQUALLY.
8. DETAIL SHOWS 2X6SMB WITH " ALUMINUM
GUSSET PLATE AS AN EXAMPLE.

BEAM SPLICE GUSSET DETAIL
SCALE: N.TS.

PURLIN

2"X2"X0.62" RECEIVING CHANNEL W/ (4]
#10X3/4" SM5 EACH SIDE OF PURLIN & INTO-
CARRIER BEAM (MAY USE ANGLES EA SIDE)

27X _"SMEB EAVE RAIL MEMBER
[UNLESS OTHERWISE NOTED ON 5-2)
ATTACHED TO PURLIN W/ (2) #10 X
4" SMS THRU SCREW BOSS

1"X2°X0.045" OPEN BACK
ATTACHED TO EAVE RAIL MEMBER
#10X1-1/2"SMS @ 127 0.C

SLOPED OR FLAT PURLIN CONNECTION DETAIL
SCALE: N,T.S.

ROOF BEAM (SLOPED OR FLAT)

CARRIER wmbzl/

2"X2"X0.125"
ANGLE EA SIDE

SEE TABLE BELOW FOR
SCREW SIZE & AMOUNT
{TYP EACH SIDE, EACH LEG)

1" X 2" MEMBER FOR SCREENING

#10X 1-1/2" SMS @ 12" 0.C, [MAX)
CONNECTING 17X 2" TO CARRIER BEAM

oo T
BEAM loex LeG o T
ANGLE
2X4 #12 4
2X5 #12 5
2X6 #12 5
o | w14 | 6
2X8 #14 7
2X9 #14 B
2X10 #14 9

BEAM TO CARRIER BEAM CONNECTION DETAIL
SCALE: N.T.S.

EDGE MEMBER
OR PURLIN

0.125" FLAT PLATE W/
| (12)#10X3/4" SM5 OR (B) #14X 3/4"
SMS [MIN. 1/2" EDGE DISTANCE)

b EDGE MEMBER
OR PURLIN

|J\.|_| BOTH ENDS SIMILAR

- L.

OPTION #1

2" X 2" X PURLIN DEPTH RECEIVING CHANNEL
W/ (4) #10X3/4" EA. LEG ATTACHING PURLIN
TO BEAM OR EAVE MEMBER (060 REC.
CHANNEL MIN)

oPTION #2 | |

ROOF BRACING CONNECTION DETAIL
SCALE: N.T.S.

HINGE LOCATION——1

27 X 2" EXTRUSION—}] | +—2" X 2" EXTRUSION

DOOR

HINGE LOCATION——]

[ /]

HINGE LOCATION:

NOTES:

1
&
3.

HINGES SHALL BE ATTACHED TO STRUCTURE W/ (3) #10 X 5/8" 5M5 MINIMUM.

DOOR SHALL BE ATTACHED TO ENCLOSURE W/(2) HINGES MINIMUM.

HINGES SHALL BE ATTACHED TO DOOR WITH (3)#10 X 5/8" SMS. FASTEN A 1" X 2" X 0.044" TO
UPRIGHT W/#12 X 1" SMS @ 12" O.C. AND WITHIN 3" FROM END OF THE UPRIGHT(IF APPLICABLE).

TYPICAL SCREEN DOOR CONNECTION DETAIL
SCALE: N.TS,

INEER SEAL

P.E. OF RECORD

FL 53608( &
FL 93654

THOMAS L. HANSON  FL 38654

DAVID W. SMITH
IAN . FOSTER

JOEL FALARDEAU

FL 70667

FL 77605

ERIK STUART

FBC PLANS & ENGINEERING

SERVICES, INC.

: 5344 9th Street
Zephryhills, FL 33542
(813)838-0735
1-(B66)824-7894

erb@fbcplans.com

WEBSITE: www.fbcplans.com

ADDRESS:
PHONE:
E-MAIL:

FAX

#29054

C.OA.:

Florlda

Code

PLANS & ENGINEERING
SERVICE, INC

PROJECT

DAVIS

LAKE CITY, FLORIDA, 32055

250 NW AUBURN PL
CONTRACTOR
LAKESIDE ALUMINUM

JOB NUMBER

24_.1104_008

DRAW DATE: 11/04/2024

REVISION 1:

REVISION 2:

REVISION 3:

DETAILS

53




/f'fw-—_—-u.__
- (4] - 3/8" @ MACHINE BOLTS W/ 3/4" @ WASHERS
SECONDARY ANGLE MIN 0.125" 2X8 SMB TO 2X10 SMB, (3) 3/8° © MACHINE BOLTS .I/f D EA U
UPRIGHT- ﬂ%nm”%q REQUIREDFOR 2X3 \? FOR BEAMS UNDER ZX6 SME, THROUGH CARRIER > < P LT
BEAM AND POST P e L
, L] ) p
(4) #10 X 3/4” SMS FASTENING |/ \l — . E OPTION #2 e e Mgl 7 n..ums\ A ..._a/.v
SECONDARY ANGLE TO COLUMN T W PRIMARY 2" X 2" X 0.125” ANGLE o] & © RV
{TYP EACH m_cmun/ | \l B RECEIVING CHANNEL freory _.r SO OnO ¢ “Z -
(2) #10 X 3/4" SMS FASTENING A OR ANGLE EA. SIDE (typ) o .= S o
N \\ |_—COLUMN TO PRIMARY ANGLE (TYP | SEREW wommh[w J/ (06257 THICKNESS) = L = \/ % O < ¢ o
(B) - CONCRETE SCREW ANCHOR INTO [\ 0 0O EACH SIDE] + | = o & Qi
= —— el ¥ A — @ u 131 % ..A/r A ~ e ll) e
SECONDARY ANGLE(TYP EACH SIDE)— o i =5 o~ £
seETARLE) NO O TR CARRIER BEAM Z 2 . ~ -
JX_;E. BASE MEMBER (TYP e - 0 — =— © < = VA O S, @ /\O XS
~ : . : EACH SIDE) [ | S L 13 B = :...u.
g : 2°X2"ORZ'X3"__ | FOR RECEIVING CHANNEL: TOTAL {8) SCREWS ®*000000°” /O I-
PURLIN OR GIRT ’ SV N
/b . d (2) #10X 3/4" SMS [TYP) INTO GIRT/PURLIN & @ \\ P R .m.@ /oc
ANCHOR SPA (MIN) - “la (1)- CONCRETE SCREW (SEE TABLE) [4) #10X 3/4" SMS [TYP) INTO UPRIGHT/BEAM 4 7 OF A
(TYP)(SEE TABLE) ' ] ANCHOR INTO PRIMARY ANGLE AND @ FOR ANGLE: TOTAL (8) SCREWS, / f | Il \
4. 1 1/4" @ CONCRETE SCREW ANCHOR @& 24” [2) #10X 3/4" SMS (TYP) @ EA. LEG S
3" C,__:Z.. 0.C. BETWEEN COLUMNS (TYP EACH SIDE) KM&&
i PROFI N INEER SEAL
NOTES: Sls|la5|s)| &
—= ——— 1. NUMBER OF ANCHORS "B" IS EACH SIDE INTO THE SECONDARY * sl8| sl
/ i »hwmu\ ﬂ 2 ANGLE AND DOES NOT INCLUDE THE ANCHOR INTO THE 1X2, (OPTIONAL) 1" X 2° g Blal3lZlalE
covumn | CONGRETESCREW 12, MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING MEMBER FOR SCREENING & sl =1 &l=l=*
SIZE w2t SHALL BE 2-3/4" AT ALL UPRIGHT LOCATIONS. ALL SCREW LENGTHS WSE SO R L1 SMs® o =] =
“p [MINIMUM| AT UPRIGHT CONNECTIONS SHALL BE OF SUFFICIENT LENGTH FOR P— R e S L _ | g -
SPACING | REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER p CARRIER BEAM & POST =lE| = &
2X31/4° | 0 0 DECK IS PRESENT. b LS| 2|82 |¢g
TRV 3 >~ | 3. CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON THOSE LISTED / ? Clalslg |5 | s
ON S-1, D, FASTENERS, OTHER BRAND & TYPE SHALL BE APPROVED . A Hd| 2122 |E|E
2xs-1/4" [ 1 2y BY ENGINEER. < P N | ElE[=2]5 )| £
2X6-3/8" 1 3+ | 4 2X3W/1X2 CORNER POST SHALL REQUIRE SAME BASE \ . o Ksﬁa__q — = | |28 )|z
X738 7 R CONNECTIONS AS 2X4 SHOWN IN TABLE. KICK PLATE ATTACHED TO 2 ; P -SNAP OR SELF MATING OR =
5. IF FOR AN IN-FILL, TOP OF COLUMN CONNECTION SIMILAR IF ALUMINUM MEMBER W/ (1 HOLLOW A SRR BERGE G o
2X8-3/8" 2 25 CONCRETE LINTEL. #10X 3/4" @ 18" O.C ; y ITS SIDE {IF REQUIRED) G % « E E
eaE | 2 3% | 6 IF WOOD LINTEL/DECK, DOUBLE LEDGE REQUIRED (MIN. 3 %") MAY £ NOTE: = cSwg S8
2 & SUBSTITUTE LAG SCREW FOR LDT FOR BOTH PRIMARY & AN 1. PERPENDICULAR CARRIER BEAM: USE 0.125" RECEIVING CHANNEL WHICH WILL =t pEoRoad
2X10-3/8 2 4 SECONDARY ANGLES, ¥ ) _ o CONNECT TO THE POST W/(4) 3/8" THRU BOLTS USED FOR THE PRIMARY CARRIER (= d433s52
7. 2X2X.045 DOOR JAMB MEMBER SHALL CONNECT SIMILAR TO 2X3 N BEAM, THEN USE (3) 3/8"® MACHINE BOLTS W/ 3/4"0 WASHERS TO ATTACH THE 43 £Eg28&y
MEMBER, NOTES: PERPENDICULAR CARRIER BEAM TO THE RECEIVING CHANNEL, €3] SES 88 :58
1. KICK PLATE TO BE APPLIED TO UPRIGHT CHAIRRAIL OR GIRT [F % HORHCRTALBEAM DETAIL WILLBS PROVIDEDAF NERDEX = G - w g
APPLICABLE T 2 =
g 5 E
Z d & 2B 4
[ n - . €
2" X 3" OR LARGER UPRIGHT TO CONCRETE W/WO PAVER PURLIN OR GIRT TO BEAM OR POST DETAIL BEAM TO POST DETAIL = ) g 2 a= & M
SCALE N.TS. SCALE: N.TS. S SE@w2J
DETAILS =
SELALLD =
SCALE:N.TS. ﬂsN.u_ 72} .
< & 2
(4) - (51) @ CONCRETE - &
1"%2°X 1/8" ANGLE (4)#12 X 3/4° SCREW WITH 2-3/4" [ | =B w a 3B
(8] #14 X 3/4 SMS SMS (TYP TOP AND SIDE EMBEDMENT (MIN. EDGE [ A A el e pian 1 HH) | sy (52) = 0 &
| N o DISTANCE FROM DECK M (= i Oz
| EDGE=3") 25 =
o b | MINT ]| 3uz| 2 | & | ¥ | 2 = = M
o fm T exa| 2 [« [ ¥ | 2
1 o [H)-3/8" @ MACHINE BOLTS exe"| 3 P 3 4
2 1/8" DIA. STAINLESS 1/8" ALUMINUM PLATE WITH WASHERS OR (HH) TOP VIEW
3/8" @ ADJUSTABLE STEEL CABLE —0 45" ANGLEW/ 1 H#14X 3/4" SMS
e MHM._. FOR CABLE - ul o Wﬂmﬂwmﬁ“ e&nﬂ__ jzﬂ.._. Aol
- (EXTERNAL DR 17X 2" OPEN BACK
TENSION SIDE VIEW w%.qsﬂEmc STAINLESS STEEL EVE < — & WASHER EA SIDE INTERNAL} OR 0,125 ANCHORED TO CONCRETE m
() (4)- (S1) ® CONCRETE RECEIVING CHANNEL W/ 1/4"%3-1/2" S
/8" . SCREW WITH 2-3/4° Hmom..ﬂxnw___ﬂ__‘%mx“wm%mq < =3
STAINLESS T — EMBEDMENT (MIN. EDGE 6" . 25 o2
STEEL CABLE = P DISTANCE FROM DECK AND 24" 0.C. MAX =g = E
L(|_I | ) _(9)} s EDGE=3") Q0 O
NOTES: @1"0C o 29 3
— ) [ WHEN USING CORNER O 5= M =
RIMETER ] 2°K2X 1/8" EXTRUDED ANGLE o o CONNECTION OPTION #2 2 =L ==
ON 45° ANGLE CONNECTION CABLE MUST BE Ow W 5 Za
SIDE VIEW — WITHIN 6" OF CORNER OR o= (=) W
OPTION #1 |O.wHEOZ - PRIMARY MEMBER. OPTION #3 " < Aom3 o
! ! {S2) MIN, SPACING
/ g 2°X2"X.125'CLIP MAY BY PLACED ON TOP OR SIDE OF NOTES: ERONTVIEW
DECK W/ (2) 1/4°X 3" SLEEVE ANCHOR @ 2" EDGE 1. CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON TITEN HD (S1) @ SCREW ANCHORS Y <
TOP OF CONCRETE : '
DISTANCE FROM.TO7 Dic SIDE CF CONCRETE, : - OTHER SIZE OR TYPE OF ANCHORS SHALL NOT BE USED. m 8
5 TOP O.m. CONCRETE | I h _ . . 2. FOR PATIO COVERS AND CARPORTS: DISREGARD THE 1X2 OPEN BACK SCREEN MEMBER ON B -
b sesnms 4 . L S ALUMINN 4 4 THE FOUNDATION TYP. ) = g
. i / /2" ALUMIN i 3. MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT ALL POST =
4° NOMINAL SLAB MINIMUM CONCRETE STRAP W/ (2) 1/4"8X 3" . : ] j
W/WELDED b P it L S < LOCATIONS. ALL SCREW LENGTHS AT POST CONNECTIONS SHALL BE OF SUFFICIENT LENGTH =N
4 WIREOR X P R O on ot i A FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER DECK IS PRESENT. = s lelz|2]E
SR s AL N 3 (MIN 2.3/4" . . . 4. MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT AT ALL m S|S|8|18|8
'ANCHOR Y o o - EMBEDMENT) A 4 . UPRIGHT LOCATIONS, ALL SCREW LENGTHS AT UPRIGHT CONNECTIONS SHALL BE OF S| Elz2l2|2
[ { \ % a . SUFFICIENT LENGTH FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER o ¢ m Bla|@
- : DECK IS PRESENT.,
OPTION #1 OPTION #2 &' X8 LINEAL FOOTING /| 5. DETAIL MAY BE FLIPPED AS NEEDED DETAILS
OPTION #3 51, USE1/4" X 3" LAG SCREWS IN LIEU OF CONCRETE SCREWS FOR WOOD HEADERS
(USE WITH FOOTING ONLY)
CABLE CONNECTION AT CORNER AND FOUNDATION ALUM. POST CONNECTION DETAIL
SCALE: NT.S. SCALE: N.TS. -




e THART F1 COMPOSITE ROOF: f/_fw UL y /.,
#12 X PLUS 1" OF PANEL THICKNESS END BEAM [SEE SHEET
CARRIER BEAM [ QTY. #12X 1" SCREWS @ 12" SMS W/ 1°9 NED-WASHERS @ B 0.C. RECEIVING CHANNEL W/ A ey T W DEAYy
/ @ ) N
ol k] R o e sy e | i SRl
ZX4[ 2K ] BEAM STRAF PAN ROOF: i AR @8 0.C PER PANEL 4" GUTTER BRACKET @ 24° 0.C.(3) | GROUTED SOLID > wveet o, &
IX6/2X7 3 (1) 5" OR 7°X 6" WIDTH X 0,072 #12X3/4" SMS W/ 1" NEO-PRENE #10 SMS @BOTH CONNECTION O O| @CONNECTION -~ I A LR
MIM. EXTRUDED GUTTER WASHER 2° FROM END & 2" O.C. PER POINTS .....u. Te &, O % GOV ’
ZXB2XI/2EL0 | & BRACKET @ EA. BEAM & (1) PANEL - e T S et 2w < L .oC o S o
GUTTER BRACKET BETWEEN == o0 = n:..u \/0 &A 2 =
BEAMS, ALL BRACKETS W/ (4) #12 S e o e / 1/4°0X 2-1/2” MASONRY : : e O =
X 3/4" SMS INTO GUTTER LIP = 5 SOLIDROOFZ = 5 SCREW 3" FROM END & @ £ o ®& D.nnn < o
= 5oLl oy 24"0.C. =Wy AT o s U] «f
P<. ~ | \EFEitzizes: = 2"X2"X 1/8" X BEAM DEPTH" = o % A ol -~
p Bt s I RECEIVING CHANNEL W/ (1) 1/4"X V% O, ) /\O o 4..........“..
2 : i CONCRETE ANCHOR INTO WALL & (4] e o
/ - - OPTION #2 SOLID RODF 5"OR 7" SUPER ¥10X 3/4” SMS EACH SIDE INTO BEAM ) %o, ¢ o e N
[ s e |- ONGUTTER FACE GUTTER \_\\ o h“ e .wmu/ X
g - 1 7 SUPER RECEIVING CHANNEL W/ OPTION #1 4 _—afff
CUTTER (H) 3/8°0 MACHINE (2)#12 X 1" SMS 1-1/4” NEOPRENE WASHER @ {2)3/8"X21/2" MIN, END BEAM [SEE SHEET - = ;
o / BOLTS WITH 3/4" 16" 0.C. TO FACE OF GUTTER. LAG SCREWS 24" 0 (USE CONCRETE TAPCON S-2 FOR SIZE) F
° WASHERS EACH SIDE ATTACH TOP AND BOTTOM FLANGES W/ __ | FOR CONCRETE APPLICATION IN LIEU OF WOOD \ orerdordL fioinder seaL
L (SEE CHART #1) #10 X 14 SMS @ 8" 0.C. PER PANEL TOP AND APPLICATION) - =] = = ™= 73]
BOTTOM OF SOLID ROOF, . 2|18 |8|g|E
e — 2 1-1/4" NEOPRENE WASHER REQUIRED @ 8" e a “ m % m q-..n
1 0.C. PER PANEL TOP OF SOLID ROOF
~ BEAM (SEE 5- . UPRIGHT OR POST I S e M >mmw __,_m_wm _,“,mbr L |22 |8 | & | &
- FOR SIZE) (SEE SHEET 5-2 EXISTING HOST STRUCTURE (WOOD - : [ S
SEE "GUTTER BRACKET & BEAM -
ATTACHMERT DETAIL" FOR THRU BOLTS IF RN moohhmm_wwpﬂmﬁ #10 SCREWS PER 12" .ul T Mwm%wm%_mﬁ = &
FOR BEAM TO GUTTER CONNEGTION 2%_"SMB o WIDTH CONNECTING PAN TO HEADER (TOP) \— x| |2 W
- CONNECTION N END BEAM ATTACHED TO 1" X 2" OPEN (oA = = o
SEE"CUTTER BACKET & 8EAM N SIMILARTOD, 5-3) B e BACK W/ [4) #10 X 2" THRU SCREW c|l3|3|E|2|E
FOR PURLIN TO GUTTER CONNECTION (2) #10 SCREWS PER 12" WIDTH BEDR LSS R BOSS q sl=lalg|3|53
bt CONNECTING PAN TO HEADER =nzn a1 =|E |5
#12X3/4"SMS 1" @8° 0L, ALTERNATE SOLID [BOTTOM DR BACK OF PAN) WOOD mOlr_u ROOF- - = 1/470 X 2-1/2° MASONRY o = =1 = ud =
TOP & BOTTOM ATTACHING - e iR Lty APPLICATION ONLY R N L ) SCREW 3" FROM END & @ 24° S|IElslels
C-CHANNEL TO ALUM. BEAM = koo N (8|0 SR S z ..._ oC.
i COMPOSITE ROOF ().I 2
ONLY FOR WOOD: FOR RISER PAN: (4) #10 SCREWS PER 12" e} m £ E
PURLIN : } [2) #14 X 2" WOOD SCREWS PER 12" WIDTH WIDTH CONNECTING PAN TO HEADER OPTION #2 z L™ 388
ooded | || =_.__. n%w.wm__ummzm 1 CONNECTING HEADER OR CHANNEL TO FASCIA, (BOTTOM) NOTE: e et m EpR gy
AS D WASHER @ B . sl 1. WHEN ATTACHING TO WOOD STRUCTURES, WOOD LAG SCREW ANCHOR DESIGNS [ Gt
00 = 1/4" ¥.3" MASONRY ANCHORS 24" 0.C. (2) ROWS ZEa 3B B
! T ORT SR, O 1O 4100 STAGGERED CONNECTING HEADER OR CHANNEL TO AR R D ER OR RECEVING SHALL BE OF IDENTICAL SIZE AND EMBEDMENT AS THAT OF MASONRY ANCHOR m EE2GeeEy
N ] ATTACHING NOTES. HOST, SCREWS. N m = m, M .@L w m
C-CHANNEL TO : BL%
Rag L RANGL 1. IF ATTACHING BELOW OVERHANG TOP SCREW OF REC. CHANNEL MAY BE OMITTED AND — BNELE 3%
AR BOTTOM SCREW TO BE UP-SIZED TO #14 &) g . LB
(SEE 5-2 FOR SIZE) Z | g & 42 g i
A O N - ION DETALL SOLID ROOF TO HOST DETAIL CHAIR RAIL/END BEAM TO HOST CONNECTION DETAIL Mg %383
SCALE: NTS. SCALE: N.T.5. SCALE:N.TS. B2 = meaFJ
.
72 I 2
z -
S0 5
SEE NOTES SLAB HEIGHT TYP. [MIN. 4™)— B w .M .m m“
I/ _ N T30 =8
e SN o VO P SEE SHEET S-2 FOR m ﬁ =
B CeagTH 4 e PROPOSED FOUNDATION
; s : SIZE AND LOCATION
= . %
e ) 1" PER FT, MAX FOR 2-0"
. Mn By REBAR CONTINUDUS W/ 25 I MIN BEFORE STEEPER
i Y + OVERLAP AT ALL JOINTS ON SLOPE
3" CHAIRS [SEE CHART FOR
REBAR SIZE & QUANTITY) SLAE HEIGHT TYP. [MIN. 4")— ﬁ
o _ 1
SLAB AND T -] 8 =
FOOTING g T, 28 o
1w iy = o m
: o SLAB I g B9 TE
= =" I_ e ty BE M =
v 4 ke nOTES REBAR BY FOOTERWIDTH | B Sk =
3 .. - - <
= | i |8 REBARK4 REBAR MM =i m g
A QTY. | QTY. AaSRS O3
REBAR CONTINUOUS W/ 25" ———
. OVERLAP AT ALL JOINTS ON 3" §,107,12" | 8 1 1
CHAIRS {SEE CHART FOR REBAR 8°.10%, 12" | 10" 1 1
..|_..<|._ SIZE & QUANTITY) 8", 10% 12" | 12" 1 2
B, 10,12 | 16 |3 4
LINGAT RIBBONFOUTNG REBAR SIZES ARE NOT TO BE MIXED
[CONTRACTOR MAY USE #5 OR #4)
NOTES FOR ALL FOUNDATION TYPES: s
1. THE FOUNDATIONS SHOWN ARE BASED ON A MINIMUM SOIL BEARING PRESSURE OF 1,500 o =
PSF. THE BEARING CAPACITY OF THE SOIL VERIFIED BY A LICENSED CONTRACTOR PRIOR TO =3 a
ANY POURING OF CONCRETE, m s
2. THE SLAB/FOUNDATION MUST BE CLEARED OF ALL DEBRIS, AND COMPACTED PRIOR TO M £
POURING OF ANY CONCRETE. i =
3. CONCRETE MEET THE SPECIFICATIONS IN THE $-1 NOTES PAGE. — 2 I = & “
4. HEIGHT AND WIDTH ARE INTERCHANGEABLE EXCEPTION 12" WIDTH X 16" HEIGHT IS NOT =i 5 = = = =
APPLICABLE m :|5[8)1g]|¢8
5. WHEN PINNING USE A MINIMUM OF (1) 12" #5 REBAR W/ 6" EMBEDMENT @ 48" 0.C. o Uu < m m m
REQUIRED FOR ACCESSORY STRUCTURE TO ACCESSORY STRUCTURE CONCRETE BUT e m = <] 2]
OPTIONAL FOR ACCESSORY STRUCTURE TO HOST STRUCTURE CONCRETE, HOWEVER SLAB
ONLY MUST BE PINNED TO HOST STRUCTURE. DETAILS
FOUNDATION DETAIL
SCALE: N.T.S. -




